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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

76- If my train -----——----- delayed, I -------—--- late for work.
1) was/ was 2) would be/ were  3) were/ would be  4) were/ was
77- I can't understand the reason --------——-—- they are angry with me.
1) why 2) when 3) how 4) what
78- She is going to tell the students some interesting stories, ---------- ?
1)isn't she 2) does she 3) doesn't she 4) is she
79- At - did the class start?
B: It -——-—--- ten minutes ago.
1) What time/ would start 2) What time/ starts
3) When/ has started 4) When/ started
80- I had a very bad toothache -----------—- I went to the dentist.
1) because 2) so 3) but 4) and
81- People could send telegram, telephone to each other, and ---------- information much
more quickly than ever before.
1) followed 2) transmited 3) explained 4) identified
82- There are many theories about the ---—-------—-—- of life on the earth.
1) imagination 2) effect 3) meaning 4) origin
83- He asked for a/an -----———--- help from the government to help the sick people.
1) available 2) original 3) immediate 4) religious
84- Japan is a country that is completely --—-------- by oceans.
1) collected 2) developed 3) surrounded 4) discovered
85- A computer is a/an --------—-—-- for processing the information.
1) device 2) center 3) issue 4) section
86- She couldn't walk easily in the ——----—-- supermarket, and this made her bored.

1) ancient 2) general 3) different 4) crowded
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87- The success of the company is -----—-—--—-- because of its good and responsible workers.
1) heavily 2) primarily 3) directly 4) suitably

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Smart houses will use computer technology to 88) --------- the home, to save energy, and to
improve people's health. In a smart house, electronic sensors will be in the floors, walls, ceilings,
and windows. These sensors will send 89) --------- to a central computer. The central computer
will then help control the house. It will also monitor the people in the house and give advice. For
example, when a person is over his or her 90) -------- weight, the sensor in the floor will “feel”
this. The computer will send a message to a cell phone or watch. The message will read, “You
91) ------—-- have a light lunch today maybe a salad.” Smart houses will influence 92) --------- i

88- 1) control 2) provide 3) recommend 4) choose

89- 1) dedication 2) abbreviation 3) information 4) comprehension

90- 1) designed 2) ideal 3) valuable 4) special

91- 1) could 2) would 3) might 4) should

92- 1) every part of people's lives 2) every people's lives part

3) people's lives every part 4) part of every people's lives

PART C: Reading Comprehension:

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Marcia says that all of her friends have a mobile phone, but Marcia's mom doesn't want to
buy her one. Marcia's mom doesn't want Marcia to play video games either. What is more, the
Internet scares her. Marcia's mom says, "If Marcia has a mobile phone, how do we know whom
she is talking to? Video games are bad for you. The Internet is dangerous and uncontrolled. It's
like having a gun in the house. We should not let her use the computer, and I'm not buying her a
mobile phone until she is eighteen. This is the only way we can be sure that Marcia is safe."

Marcia's dad disagrees with Marcia's mom. Although he agrees that there are some dangers to
it, he likes the Internet, and finds it to be very useful. "The trouble is," he says, "We Just can't
stop Marcia from using the Internet as this would put her at a disadvantage. What is more, I like
video games. I think if she doesn't play a lot, they are fun. Obviously, it is not good to play them
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without limit or self-control. Finally, I think Marcia needs a mobile phone. We can't take these
things away.

93- You can infer from the passage that -——---------- .

1) eighteen is the best age for using technology
2) students should not use video games

3) parents don't let students have mobile phones
4) technology is a need for students

94- Marcia's dad can best be described as ----—--—----

1) careful 2) reasonable 3) funny 4) careless

95- The sentence “It's like having a gun in the house” in paragraph 1 refers that -—---—----— .
1) Internet is dangerous 2) gun can't be safe
3) Marcia's dad has a gun 4) Marcia can read about gun in Internet

96- Which of the following best describes the similarity between Marcia's mom and

Marcia's dad?

1) Mom and dad both think the same about video games.
2) Mom and dad both think the Internet is dangerous.

3) Mom and dad both care about Marcia's future.

4) Mom and dad both like technology.

PASSAGE 2:

It 1s hard to be a farmer. Cold weather can kill your crops. Bugs can eat your crops. Weeds
can hurt your erops. Your crops may need more rain than they get. Fruits and vegetables can go
bad before they are sold. Some people say farmers can fix all of this with GM food.

What is GM food? All living things have DNA. DNA tells living things how to grow. These
days, people can change the DNA that tells food how to grow. When people change the DNA of
food, it is called GM food.

Some GM food can grow in cold weather. GM food can stop bugs from eating it. GM fruits
and vegetables can stay good longer. One day, GM food may be able to grow in dry land in
Africa. It will feed people who do not have much food.

But there is a lot we do not know about GM food. Will GM companies help poor people grow
food? Or do GM companies just want to get rich? Does GM food kill bugs we need, like
butterflies? Does GM food make birds sick? Does GM food make people sick? We do not know.
There have not been many tests on GM food.

Do you think farmers should grow GM food?

97- What can bugs do that make it hard to be a farmar?

1) They make your crops dry. 2) They can make your food go bad.
3) They can eat your crops. 4) They make your food GM.
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98- According to the reading, what sentence is NOT true about GM food?

1) GM food stays good longer. 2) GM food has different DNA.

3) GM food can grow in cold weather. 4) GM food grows in dry land in Africa.
99- We don't know enough about GM food because ----------- .

1) people don't like GM foods

2) they are not important for scientists

3) scientists need to do more tests on GM foods

4) companies just want to get rich
100- This passage puts great emphasis on ------------ .
1) farmers having a hard job 2) a new method in agriculture
3) the ways of growing GM foods 4) different methods of feeding people
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